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Wrire the numbers in increasing order.

3 2,-2,075, -2 a 3VI0E 15 5. 0,—v2,v3, 2
%, "% 095, ~iLg, 3/:, 3, -/Z ¢, 5, By

Write what edch property means mathematically as addltlon and mult:pllcatlon and then in words.
6. Commutative Property —

7. Associative Property —

8. Identity Property —

9, Inverse Property —

10. Distributive Property —

11. What does opposite mean mathmatically?

12. What does reciprocal mean mathmatically?

24. Birthday Cake Ten classmates are poing to share a birthday cake after school.
The rectangular birthday ceke is ¥ pieces bong and 4 pieces wide. Each person 72 oiecad
eats the same number of pieces. How many picces does zach person eat? /
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Examples: Like terms —

Simplify the expression.

11 K5 —3x)+ 5(5x— 3) 12. 3x(x —5) — ka -3} 13. 5{x+2}}—3,1-—:n
Lxr2o . xEeIsXe _ EXHsy
14. {x—y}{v—x} 15.-§+m’1 —-1;+ i‘+ 16, ¥ofl — 2V ) + 30— 2)
; 3 —+ -
Al -y K e xC +X\/ y X+ 0x
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Examples:

H , 4, .
16, 4+ =32 -3 A7 Sx=5(x-2) 18, x+ 6= 3{3 — )

it = %5 Wy -y




24. Pav Rate You need io earn $473 per week to afford the new car you want to j/ & 'A’;Q:.q/‘
purchase. Your work week is 45 hours. You get 1.3 times the regular hourly rate for
overtime {anything over 40 hours). How much does your hourly rate need o be?

25. Car Bl The bill for your automobile repairs was 3265.74. The cost for laboer was Za é,— heolurs,
$32.00 per hour. The cost for materials was $135.74. How many hours did the
mechanic work on your automobile?
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Solve the equation for y. Then find the value of yfor the given valuse of x.

7. 3-.1:—63*‘——, 6;x=12 o 8 —x+2= 53;_-—31;.3;‘ =?5 9. 2Zxp+ 12-—- xy -3-’3;,1:---2
= -t 2 T XL £
YEEel o SYAESTESTE YRR
10, §x—y-=§-x—:r;x"—“?‘ 11. Zr+§y=3x-ml;x=8 12. gy—fix=3—3y;x=§
e ey Y Y 2l 2 15
= 2 Vex-Hy , TEaG Ve Tkl n IR
Solve the formula for the indicated 43:‘?3&13. ) q Z / 13 12 X j—?—f
13, Fahrenheit to Celsius 14, Perimeter of a Poallelogram /
Solve for . C = 3(F — ) Solve for b: P = 2 + 2s
= % C+32 %
FztFs =75 _ R
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Solve the inequality and then graph the sclution. ~7
z - 43 v 5 L=
10. 5 —Sx<10 X-Z 57 11— +7<-8 X 5
3. -3x+656 XIO© -’-’-‘ﬁ_o 14, x +8<2% -2 XZI10 &7
%2$.t+3£-5 ><\x+2£—farx—221
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Solve the squation. -
-5 X:_‘Z- .= !_’. X = 5 ?
7. x-3}=5 X~/ y g, |x-3l=8 %~ 2 3
)
10, JH-Z] =0 X?Z I x> = SET S T PR, 1 NS
Solve the inequality. o y ‘iz
19. |x+7]=3 x7-1  x& 21, Ja—zjgs x 277, Xz=

‘ '»
2. 1L ”I‘f’l | 2a. 2-xfx} X< 7] , xZ




